PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED:	Kauai Lihue and Koloa 21 June 10, 2024	** NOTE: Quantities shown in this column are for in-house use only.		shown in this column are for in-house use only.		shown in this column are for in-house use only.		Jas W. Glover, LTD.		uantities olumn are		Antities		iantities olumn are		Earthworks Pacific, Inc.		Earthworks Pacific, Inc.		STATE OF DEPARTM TRANSPO HIGHWAYS	IENT OF RTATION
ITEM NO.	ITEM		** APPROX. QUANTITY UNIT USED		AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT												
201.0100	Clearing and Grubbing	12,000	SY	\$4.75	\$57,000.00	\$1.50	\$18,000.00	\$35.00	\$420,000.00												
203.0100	Roadway Excavation	540	CY	\$110.00	\$59,400.00	\$200.00	\$108,000.00	\$220.00	\$118,800.00												
203.0200	Borrow Excavated Material	75	СҮ	\$375.00	\$28,125.00	\$500.00	\$37,500.00	\$200.00	\$15,000.00												
209.0100	Installation, Maintenance, Monitoring and Removal of BMP	LS	LS	LS	\$100,000.00	LS	\$80,000.00	LS	\$50,000.00												
209.0200	Additional Water Pollution, Dust and Erosion Control	FA	FA	FA	\$50,000.00	FA	\$50,000.00	FA	\$50,000.00												
304.0100	Aggregate Base Course	150	СҮ	\$355.00	\$53,250.00	\$375.00	\$56,250.00	\$220.00	\$33,000.00												
305.0100	Aggregate Subbase Course	200	СҮ	\$340.00	\$68,000.00	\$410.00	\$82,000.00	\$220.00	\$44,000.00												
401.0400	HMA Pavement Mix No. IV	160	TN	\$850.00	\$136,000.00	\$1,335.00	\$213,600.00	\$450.00	\$72,000.00												
415.0110	Cold Planing of Existing Pavement	150	SY	\$225.00	\$33,750.00	\$485.00	\$72,750.00	\$20.00	\$3,000.00												
603.0100	Clean Existing Culverts	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00												
615.0100	16-Inch Milled Rumble Strip, Centerline	800	LF	\$25.00	\$20,000.00	\$16.50	\$13,200.00	\$3.00	\$2,400.00												
615.0110	12-Inch Milled Rumble Strip, Edgeline	4,600	LF	\$12.00	\$55,200.00	\$7.25	\$33,350.00	\$3.00	\$13,800.00												
629.1000	4-Inch Pavement Striping (Thermoplastic Extrusion)	16,130	LF	\$2.20	\$35,486.00	\$3.50	\$56,455.00	\$4.00	\$64,520.00												
629.1008	4-Inch Pavement Striping (Profiled Thermolastic)	3,300	LF	\$2.20	\$7,260.00	\$3.50	\$11,550.00	\$4.00	\$13,200.00												
629.1010	Double 4-Inch Pavement Striping (Thermoplastic Extrusion)	12,700	LF	\$2.80	\$35,560.00	\$5.50	\$69,850.00	\$5.00	\$63,500.00												
629.1016	Double 4-Inch Pavement Striping (Thermoplastic Hot Spray)	18,100	LF	\$2.20	\$39,820.00	\$5.50	\$99,550.00	\$5.00	\$90,500.00												
629.1020	6-Inch Pavement Striping (Thermoplastic Extrusion)	6,350	LF	\$2.20	\$13,970.00	\$5.50	\$34,925.00	\$4.50	\$28,575.00												
629.1026	6-Inch Pavement Striping (Thermoplastic Hot Spray)	42,550	LF	\$2.20	\$93,610.00	\$5.50	\$234,025.00	\$4.50	\$191,475.00												
629.1030	8-Inch Pavement Striping (Thermoplastic Extrusion)	2,500	LF	\$3.10	\$7,750.00	\$5.50	\$13,750.00	\$5.00	\$12,500.00												
629.1036	8-Inch Pavement Striping (Thermoplastic Hot Spray)	15,800	LF	\$2.20	\$34,760.00	\$5.50	\$86,900.00	\$5.00	\$79,000.00												
L	1		I	<u> </u>	L	<u> </u>	<u> </u>	Sheet No. 1 of 4													

Sheet No. 1 of 4 Sheets

## TABULATION OF BIDS

PROJECT NO.: NET LENGTH: ISLAND:	Kauai Lihue and Koloa			Jas W. Glover, LTD.		Earthworks Pacific, Inc.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED: BID OPENED:	June 10, 2024 July 11, 2024	* NOTE: Qua	antities shown						
COMPLETION TIME:	One Hundred (120) Working Days	in this colun	nn are for in- use only.						
ITEM NO.	ITEM	* APPROX.	ROX.		AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1050	12-Inch Pavement Striping (Thermoplastic Extrusion)	1,940	LF	\$4.60	\$8,924.00	\$5.50	\$10,670.00	\$7.00	\$13,580.00
629.1100	Pavement Word (Thermoplastic Extrusion)	13	EA	\$260.00	\$3,380.00	\$1,320.00	\$17,160.00	\$500.00	\$6,500.00
629.1110	Pavement Arrow (Thermoplastic Extrusion)	44	EA	\$310.00	\$13,640.00	\$451.00	\$19,844.00	\$500.00	\$22,000.00
629.1130	Yield Line (Thermoplastic Extrusion)	7	LN	\$600.00	\$4,200.00	\$635.00	\$4,445.00	\$650.00	\$4,550.00
629.2020	Type C Pavement Marker	3,500	EA	\$5.10	\$17,850.00	\$11.00	\$38,500.00	\$5.00	\$17,500.00
629.2030	Type D Pavement Marker	4,560	EA	\$5.10	\$23,256.00	\$11.00	\$50,160.00	\$5.00	\$22,800.00
629.2040	Type F Pavement Marker	1	EA	\$50.00	\$50.00	\$11.00	\$11.00	\$5.00	\$5.00
629.2050	Type H Pavement Marker	2,410	EA	\$5.10	\$12,291.00	\$11.00	\$26,510.00	\$5.00	\$12,050.00
629.3100	Removing and Disposing of Existing Pavement Striping	113,500	LF	\$0.80	\$90,800.00	\$1.75	\$198,625.00	\$0.60	\$68,100.00
629.3110	Removing and Disposing of Existing Pavement Words	13	EA	\$475.00	\$6,175.00	\$495.00	\$6,435.00	\$400.00	\$5,200.00
629.3120	Removing and Disposing of Existing Pavement Arrow	44	EA	\$210.00	\$9,240.00	\$220.00	\$9,680.00	\$400.00	\$17,600.00
629.3140	Removing and Disposing of Existing Yield Line Markings	7	LN	\$375.00	\$2,625.00	\$385.00	\$2,695.00	\$400.00	\$2,800.00
629.3200	Removing and Disposing of Existing Pavement Markers	10,270	EA	\$2.60	\$26,702.00	\$3.00	\$30,810.00	\$1.25	\$12,837.50
630.1100	Panel for Destination Sign (Flat Panel)	70	SF	\$80.00	\$5,600.00	\$485.00	\$33,950.00	\$100.00	\$7,000.00
630.1110	Panel for Destination Sign (Extruded Panel)	36	SF	\$135.00	\$4,860.00	\$175.00	\$6,300.00	\$200.00	\$7,200.00
630.1200	Type A Route Marker Assembly	1	EA	\$655.00	\$655.00	\$2,700.00	\$2,700.00	\$600.00	\$600.00
630.1300	Street Name Sign	6	EA	\$330.00	\$1,980.00	\$485.00	\$2,910.00	\$500.00	\$3,000.00
630.1500	2.5 Inch Galvanized Square Tube	2	EA	\$530.00	\$1,060.00	\$770.00	\$1,540.00	\$250.00	\$500.00
630.1610	4.00 lbs/ft. Flanged Channel Post for Destination Sign	12	EA	\$505.00	\$6,060.00	\$540.00	\$6,480.00	\$550.00	\$6,600.00
631.0100	Regulatory Sign (10 Sq. Ft. or Less) with Post	30	EA	\$655.00	\$19,650.00	\$2,155.00	\$64,650.00	\$600.00	\$18,000.00
				I		<u></u>		Sheet No. 2 of 4	

# TABULATION OF BIDS

	Kaumualii Highway Safety Improvements, Kipu Road to Omao Road								
PROJECT NO.:	HSIP-050-1(044)								
NET LENGTH:				Jas W. Glover, LTD.		Earthworks Pacific, Inc.		STATE OF HAWAII DEPARTMENT OF	
TYPE CODE:	Lihue and Koloa 21							TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED:	June 10, 2024	* NOTE: Quantities shown							
BID OPENED:									
COMPLETION TIME:	One Hundred (120) Working Days		this column are for in- house use only.						
ITEM NO.	ITEM	* APPROX. QUANTITY	UNIT USED			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Regulatory Sign (More Than 10 Sq. Ft.) with Posts	12	EA	\$1,050.00	\$12,600.00	\$3,025.00		\$1,000.00	\$12,000.00
631.0200	Warning Sign (10 Sq. Ft. or Less) with Post	21	EA				\$47,250.00	\$600.00	\$12,600.00
				\$655.00	\$13,755.00	\$2,250.00			
	Miscellaneous Sign with Post	5	EA	\$1,300.00	\$6,500.00	\$2,855.00	\$14,275.00	\$1,000.00	\$5,000.00
631.0400	Supplemental Plaque	26	EA	\$280.00	\$7,280.00	\$370.00	\$9,620.00	\$350.00	\$9,100.00
632.0120	Reflector Marker (RM-3) with Steel Post	260	EA	\$300.00	\$78,000.00	\$1,845.00	\$479,700.00	\$225.00	\$58,500.00
632.0122	Reflector Marker (RM-3) with Flexible Post	49	EA	\$225.00	\$11,025.00	\$330.00	\$16,170.00	\$150.00	\$7,350.00
632.0130	Reflector Marker (RM-5)	700	EA	\$52.00	\$36,400.00	\$38.00	\$26,600.00	\$50.00	\$35,000.00
632.0140	Reflector Marker On Guardrail End Treatment	100	EA	\$52.00	\$5,200.00	\$120.00	\$12,000.00	\$500.00	\$50,000.00
632.0500	Mile Post Marker with Post (Bi-Directional)	12	EA	\$725.00	\$8,700.00	\$2,225.00	\$26,700.00	\$750.00	\$9,000.00
632.1020	Type II Object Marker (OM2-2V)	27	EA	\$52.00	\$1,404.00	\$160.00	\$4,320.00	\$100.00	\$2,700.00
632.1030	Type III Object Marker (OM3-1)	100	EA	\$280.00	\$28,000.00	\$195.00	\$19,500.00	\$200.00	\$20,000.00
632.1032	Type III Object Marker (OM3-1) Post Mounted	28	EA	\$330.00	\$9,240.00	\$1,920.00	\$53,760.00	\$400.00	\$11,200.00
632.1050	Type V Object Marker (OM-5)	78	EA	\$210.00	\$16,380.00	\$400.00	\$31,200.00	\$250.00	\$19,500.00
636.1000	Adiitional E-Construction Programs, Additional Licenses or Additional Equipment	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
641.0100	Hydro-Mulch Seeding	1,500	SY	\$20.00	\$30,000.00	\$55.00	\$82,500.00	\$50.00	\$75,000.00
643.0110	Maintenance of Existing Landscape Areas	FA	FA	FA	\$150,000.00	FA	\$150,000.00	FA	\$150,000.00
645.1000	Traffic Control	LS	LS	LS	\$1,059,577.00	LS	\$950,000.00	LS	\$200,000.00
645.2000	Additional Police Officers, Additional Traffic Control Devices or Additional Advertisements	FA	FA	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00
648.1000	Field Posted Drawings	LS	LS	LS	\$2,000.00	LS	\$2,500.00	LS	\$2,000.00
					f,			Sheet No. 3 of 4	Shoota

### TABULATION OF BIDS

	TABULATION OF B									
PROJECT:	Kaumualii Highway Safety Improvements,									
PROJECT NO.:	HSIP-050-1(044)	1-11.11.11.11.11.11.11.11.11.11.11.11.11								
NET LENGTH: ISLAND:					Jas W. Glover, LTD.		Earthworks Pacific, Inc.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
	Lihue and Koloa				Jas vv. Gi	over, LTD.				
TYPE CODE:	21	۰,								S DIVISION
DATE ADVERTISED:	June 10, 2024									
BID OPENED:	July 11, 2024		* NOTE: Quantities shown in this column are for in- house use only.							
COMPLETION TIME:	One Hundred (120) Working Days									
			* APPROX.	* APPROX.				······································		
ITEM NO.	ITEM		QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
658.1000	EVC Traffic Counting System		LS	LS	LS	\$70,000.00	LS	\$90,000.00	LS	\$50,000.00
671.1000	Protection of Threatened and Endangered Species		FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
699.1000	Mobilization (Not to Exceed 6% of the Sum of All Items Excluding the Bid Price of This Item)		LS	LS	LS	\$150,000.00	LS	\$232,000.00	LS	\$141,158.55
	Total Amount for Comparison of Bids					\$3,044,000.00		\$4,350,125.00		\$2,643,801.05
	I certify that this is a true and correct tabulation of bids for this	s project.								
	Eric Zijf	Jul 18, 2024								
	Eric Fujikawa, Project Manager	Date								